Warm-up: Solving Linear Systems l MFM2P

1) Try solving the following linear systems by graphing, and by using algebra. Isit possible to find the

solution using both methods?

a)y=x+9
slope = l/'| y-intercept = C\
y=2x+4

slope = '2/| y-intercept= 4
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1) Set the equations equal, and solve for “x”

2) Sub your value for “x” into either equation

X4 Q= 2x 44
-2y -2y
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\5= ‘54C\
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Point of Intersection = ( S , \4)
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2) Consider the following relation. Complete the table of values by determining x and y values that add o
to 7, and then plot each point. What do you notice? Mr. Smith will do the key idea with you later.

Relation: x +y =7

Rule: s .

“xandyadd to 7”

NS

N

|

eI |

10
2
G AVAY R elabiong

x y

7 v
\ G HNEN | |
T : EES .
O ‘7

L& % ()S; UJ\L -E)u " # X+ =8 °
L | J

Vm&uu \\/\u ‘mo

3) Motivation for today’s lesson:

At a hockey game, two of your friends come back with some food:

o Asher has 1 hotdog, and 2 orders of deep fried pickles. It cost him $12.00.
e Bryden has 1 hotdog, and 1 order of deep fried pickles. It cost him $8.50.

This situation can be modeled with two linear relations:

d + 2p = 12.00
d+p=8.50

You are hungry, but you want to figure out how much these things cost individually.

What is the price of one hotdog? What is the price of one order of deep fried pickles? Try and figure it
out... Mr. Smith will show you an algebraic way to do it later|

Ty



